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1. India signed the Treaty of 

Friendship in................ with the 

USSR for 20 years. 

(A)  August 1971 

(B) March 1971 

(C) September 1971 

(D) None of the above 

 1. Hkkjr us 20 lky ds fy, ;w,l,lvkj ds 
lkFk fe=rk dh laf/k ij gLrk{kj dc fd, 
Fks\ 
(A) vxLr 1971 
(B) ekpZ 1971 
(C) flracj 1971 
(D) mijksDr esa ls dksbZ ugha 

2. Non-Aligned Movement was 

established at the conference of 

Heads of state or governments of 

non-aligned countries in 1961 at   

(A)   Belgrade 

(B) Geneva 

(C) Paris 

(D) Bandung 

 2. xqVfujis{k vkanksyu dh LFkkiuk 1961 esa 

xqqVfujis{k ns’kksa ds jk”Vªk/;{kksa ;k ljdkjksa ds 

fdl lEesyu esa gqbZ Fkh\ 

(A) csyxszM 

(B) ftusok 

(C) isfjl 

(D) ckaMqax 

3. The first major war in which the US 

got directly involved was the war in  

(A)   Korea 

(B) Vietnam  

(C) Afghanistan 

(D) Hungary 

 3. igyk cM+k ;q) fuEu esa ls dkSu lk Fkk 

fltesa vesfjdk lh/ks rkSj ij ‘kkfey gqvk\ 

(A) dksfj;k 

(B) fo;ruke 

(C) vQxkfUkLrku 

(D) gaxjh 

4. What among these is not an element 

of national morale building of a 

nation state? 

(A)   Culture 

(B) National Character  

(C) Popular Leadership 

(D) Ideology 

 4. buesa ls D;k jk”Vª jkT; ds jk”Vªh; eukscy 

fuekZ.k dk rRo ugha gS\ 

(A) laLÑfr 

(B) jk”Vªh; pfj= 

(C) yksdfiz; usrR̀o 

(D) fopkj/kkjk 
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5. Who said, “Who rules Eastern 
Europe commands the Heartland. 
Who rules the Heartland, commands 
the world Island (Eurasia-Africa). 
Who rules the World Island, 
commands the world”? 
(A)   Morgenthau 
(B) Churchill 
(C) Mackinder 
(D) Mahan 

 5. fdlus dgk] Þtks iwohZ ;wjksi ij ‘kklu 
djsxk og ân;LFky ij vf/kdkj j[ksxk tks 
ân;LFky ij ‘kklu djsxk og fo’o }hi 
¼;wjsf’k;k vÝhdk½ dks fu;af=r djsxk vkSj 
tks fo’o }hi ij ‘kklu djsxk og iwjs 
fo’o ij izHkqRo j[ksxkß\ 
(A) ekWxZsUFkkÅ 
(B) pfpZy 
(C) eSfdaMj 
(D) egku 

6. The US policy to provide military 
and economic aid to countries 
threatened by communism was 
called.  
(A)   Monroe Doctrine 
(B) Truman Doctrine 
(C) Brezhnev Doctrine  
(D) Marshall Plan 

 6. lkE;okn ls ladVxzLr ns’kksa dks lSU; vkSj 
vkfFkZd lgk;rk iznku djus dh vesfjdh 
uhfr dks ----------------- dgk tkrk Fkk- 
(A) equjks fl)kar 
(B) VwªeSu fl)kar 
(C) csz>uso fl)kar 
(D) ek’kZy fl)kar 

7. The term ‘Cold War’ was first 
coined by 

(A)   Bernard Baruch 
(B) Harry S. Truman 
(C) Woodrow Wilson 
(D) James Manroe 

 7. *’khr ;q)* ‘kCn lcls igys fdlds }kjk 
x<+k x;k Fkk\ 
(A) cukZMZ ck:p 
(B) gSjh ,l- VwªeSu 
(C) oqqMjks foYlu 
(D) tsEl eujks 

8. Salt I treaty was signed between 
(A)   Brezhnev and Carter  
(B) Brezhnev and Bush Senior 
(C) Brezhnev and Nixon 
(D) None of the above 

 8. lkYVa laf/k esa fdu ds chp gLrk{kj fd, 
x, Fks\ 
(A) csz>uso vkSj dkVZj 
(B) csz>uso vkSj cq’k lhfu;j 
(C) csz>uso vkSj fuDlu 
(D) mijksDr esa ls dksbZ ugha 

9. Which country/countries left the 
League of nations and violated the 
policy of status quo to maintain 
peace?  
(A)   Japan 
(B) China 
(C) France 
(D) All the above 

 9. fdu ns’kksa us jk”Vª la?k dks NksM+ fn;k vkSj 
‘kkafr cuk, j[kus ds fy, ;FkkfLFfr dh 
uhfr dk mYya?ku fd;k \ 
(A) tkiku 
(B) phu 
(C) Ýkal 
(D) mijksDr lHkh 
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10. Which of these statements are true? 
1. USA informed the Soviet 

Union about the exact nature 
of the atomic bomb, dropped 
on Japan.  

2. Iron Curtain is the political, 
military, and ideological 
barrier erected by the Soviet 
Union after World War II. 

(A) Only 1 
(B) Only 2 
(C) Both 
(D) None 

 10. buesa ls dkSu ls dFku lR; gaS\ 

1. ;w,l, us lksfo;r la?k dks tkiku 

ij fxjk, x, ijek.kq ce dh lVhd 

izÑfr ds ckjs esa lwfpr fd;k FkkA 

2. vk;ju dVZu f}rh; fo’o ;q) ds 

ckn lksfo;r la?k }kjk [kM+k fd;k 

x;k jktuhfrd]lSU; vkSj oSpkfjd 

vojks/k gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) nksuksa 

(D) dksbZ ugha 

11. Which among these statements is 

true? 

1. Chinese soldiers are present in 

Pakistan-occupied Kashmir. 

2. Chinese soldiers are present in 

Gilgit-Baltistan. 

(A)   Only 1 

(B) Only 2 

(C) Both 

(D) None 

 11. buesa ls dkSu lk dFku lR; gS\ 

1. ikd vf/kÑr d’ehj esa phuh lSfud 

ekStwn gSaA 

2. fxyfxr&ckfYVLrku esa phuh lSfud 

ekStwn gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) nksuksa 

(D) dksbZ ugha 

12. China aggressively claims ..........and 
has ruled out an early border 
settlement. 
(A)   Nagaland 
(B) Kashmir 
(C) Arunachal Pradesh  
(D) None of the above 

 12. phuvkØked :i ls -----------------dk nkok 

djrk gS vkSj ,d izkjafHkd lhek le>kSrk 

ls badkj dj fn;k gSA                

(A) ukxkySaM 

(B) d’ehj 

(C) v:.kkpy izns’k 

(D) mijksDr essa ls dksbZ ugha 
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13. Which initiative of the United States 

marked the official start of cold 

war? 

(A)   Truman Doctrine 

(B) Marshall Plan 

(C) Formation of NATO 

(D) None of the above 

 13. la;qDr jkT; vesfjdk dh fdl igy us 

‘khr ;q) dh vkf/kdkfjd ‘kq:vkr dh\ 

(A) VwªeSu fl)kar 

(B) ek’kZy ;kstuk 

(C) ukVks dk xBu 

(D) mijksDRr es ls dksbZ ugha 

14. The Tashkent Agreement was 
signed between Lal Bahadur Shastri 
and 

(A)   Zulfiqar Ali Bhutto 
(B) Ayub Khan 
(C) Gen Zia-ul Haq 
(D) Benazir Bhutto 

 14. rk’kdan le>kSrs ij yky cgknqj ‘kkL=h 

vkSj--------------- ds chp gLrk{kj fd, x, Fks 

(A) tqfYQdkj vyh HkqV~Vks 

(B) v;wc [kku 

(C) tujy ft;k&my gd 

(D) csuthj HkqV~Vks 

15. “An  “iron curtain” descended 
across Europe, separating the “free” 
democratic nations of the West from 
the “captive” Communist nations of 
the East.” Who said this? 
(A)   George Kennan 
(B) Winston Churchill 
(C) George C. Marshall 
(D) None of the above 

 15. Þiwjs ;wjksi esa ,dß vk;ju dVZuß Nk x;k gS 

tks if’pe ds ÞeqDrß yksdrkaf=d jk”Vªksa dks 

iwoZ ds Þcanhß dE;qfuLV jk”Vªksa ls vyx dj 

jgk gS]ß ;g fdlus dgk Fkk\ 

(A) tkWtZ dsuu 

(B) foaLVu pfpZy 

(C) tkWTkZ lh- ek’kZy 

(D) mijksDRk esa ls dksbZ ugah 

16. “Act East Policy’ in India was 

initiated by 

(A)   Narendra Modi 

(B) Atal Bihari Vajpayee 

(C) Manmohan Singh 

(D)  I K Gujral 

 16. Hkkjr esa Þ,DV bZLV ikWfylhß fdlds }kjk 

‘kq: dh xbZ Fkh\ 

(A) ujsUnz eksnh 

(B) vVy fcgkjh oktis;h 

(C) eueksgu flag 

(D) vkbZ ds xqtjky 
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17. The south Asian Region comprises 

of  

(A)   04 countries  

(B) 08 countries 

(C) 05 countries 

(D) 06 countries 

 17. fdrus jk”Vª nf{k.k ,f’k;kbZ {ks= esa ‘kkfey 

gSa\ 

(A)   04 ns’k 

(B) 08 ns’k 

(C) 05 ns’k 

(D) 06 ns’k 

18. There have been greater differences 

between India and USA on the 

question of  

(A)   Galvan standoff 

(B) Nuclear deal 

(C) Signing of CTBT 

(D) Globalisation and liberalization  

 18. fuEu esa ls fdl iz’u ij Hkkjr vkSj 

vesfjdk ds chp vf/kd erHksn jgs gSa\ 

(A) xyoku xfrjks/k 

(B) ijek.kq le>kSrk 

(C) lhVhchVh ij gLrk{kj 

(D) oS’ohdj.k vkSj mnkjhdj.k 

19. The most reliable determinant of 

foreign policy among these is : 

(A)   Pressure groups 

(B) Political organization 

(C) Geographical area  

(D) Political parties 

 19. fons’k uhfr dk buesa ls lcls fo’oluh; 

fu/kkZjd rRo D;k gS % 

(A) ncko lewg 

(B) jktuhfrd laxBu 

(C) HkkSxksfyd {ks= 

(D) jktuhfrd ny 

20. Which among these is not the 

method of securing balance of 

power among nations?  

(A)   Compensation 

(B) Armament 

(C) Intervention 

(D) Protestation 

 20. buesa ls dkSu jk”Vªksa ds chp ‘kfDr larqyu 

gkfly djus dh fof/k ugha gS\ 

(A) eqvkotk 

(B) ‘kL=hdj.k 

(C) gLr{ksi 

(D) fojks/k 
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21. Which international crisis among 
these is an example of the 
application of collective security 
principle in international politics?  
(A)   The Gulf war 
(B) The Syrian crisis 
(C) The Afghanistan crisis 
(D) None of the above 

 21. buesa ls dkSu lk varjkZ”Vªh; ladV 

varjkZ”Vªh; jktuhfr esa lkewfgd lqj{kk 

fl)kar ds iz;ksx dk ,d mnkgj.k gS\ 

(A) [kkM+h ;q) 

(B) lhfj;kbZ ladV 

(C) vQxkfuLrku ladV 

(D) mijksDr essa ls dksbZ ugha 

22. “A political policy seeks either to 
keep power, to increase power, or to 
demonstrate power,” Whose 
statement is this? 
(A)   Morgenthau 
(B) Churchill 
(C) Burton 
(D) None of the above 

 22. Þjktuhfrd uhfr ;k rks lÙkk dks cuk, 

j[kus ds fy,] ‘kfDr c<+kus ds fy,] ;k 

‘kfDr dk izn’kZu djus dh dksf’k’k djrh 

gS]ß ;g fdldk dFku gS\ 

(A) ekWxsZUFkkÅ 

(B) pfpZy 

(C) cVZu 

(D) mijksDr esa ls dksbZ ugha 

23. Channels. Load, receptors are terms 
used in which theory in international 
politics?  
(A)   Systems theory  
(B) Communication theory 
(C) Game theory 
(D) None of the above 

 23. pSuy Hkkj]  Lokxr drkZ ‘kCn varjkZ”Vªh; 

jktuhfr esa fdl fl)akRk esa iz;qDr gksrs gSa\ 

(A) lajpuk fl)kar 

(B) lapkj fl)kar 

(C) [ksy fl)kar 

(D) mijksDr esa ls dksbZ ugha 

24. “In the Post-Cold war era, for the 
first time in history, global politics 
has become multipolar and 
multicivilizational” who said this? 
(A)   Quincy Wright 
(B) George Bush Junior 
(C) S.P. Huntington  
(D) None of the above 

 24. Þ’khr&;q) ds ckn ds dky esa] bfrgkl esa 

igyh ckj] oSf’od jktuhfr cgq/kzqoh; vkSj 

cgq&lH;rkoknh gks xbZ gSß ;g fdldk 

dFku gSa\ 

(A) fDoalh jkbV 

(B) tkWtZ cq’k twfu;j 

(C) ,lih gafVaxVu 

(D) mijksDr esa ls dksbZ ugha 
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25. “Identities and interests of actors as 

socially constructed and 

changeable” this idea belongs to 

which approach? 

(A)   Behaviouralism 

(B) Feminism 

(C) Constructivism 

(D) Realism 

 25. ÞvfHkdjrk dh igpku vkSj fgr lkekftd 

:i ls fufeZr vkSj ifjorZu’khy gksrs gS]ß 

;g fopkj fdl ǹf”Vdks.k ls lacaf/kr gS\ 

(A) O;ogkjokn 

(B) ukjhokn 

(C) jpukokn 

(D) ;FkkFkZokn 

26. Elevated to prominence after World 

War II and the arrival of nuclear 

weapons, ................. became the 

central choice for sustaining 

international and internal security.      

(A)   Collective security 

(B) Deterrence 

(C) MAD 

(D) None of the above 

 26. f}rh; fo’o ;q) vkSj ijek.kq  gfFk;kjksa ds 

vkxeu ds ckn varjkZ”Vªh; vkSj vkarfjd 

lqj{kk dks cuk, j[kus ds fy, ------------ 

dsUnzh; fodYi cu x;k gSA 

(A) lkewfgd lqj{kk 

(B) fuokjdrk 

(C) MAD 

(D) mijksDr esa ls dksbZ ugha 

27. Which one among these two 
statements is correct?  
1. Imperialism is basically to 

acquire political power, but the 
prime object of colonialism is 
economic.  

2. Colonialism is comparatively 
older than imperialism. 

(A) Only1 
(B) Only 2 
(C) Both 
(D) None 

 27. bu nksuksa esa ls dkSu lk dFku lgh gS\ 

1. lkezkT;okn ewy :i ls jktuhfrd 

lÙkk gkfly djuk gS] ysfdu 

mifuos’kokn dk eq[; mn~ns’; 

vkfFkZd gSA 

2. mifuos’kokn lkezkT;okn ls 

rqyukRed :i ls iqjkuk gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) nksuksa 

(D) dksbZ ugha 
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28. Churchill, Morgenthau and Kenneth 
Thompson define balance of power 
in terms of  
(A)   Foreign policy 
(B) Hegemony 
(C) Equilibrium 
(D) Power distribution 

 28. pfpZy eksxsZUFkkÅ vkSj dsusFk FkkWEilu ‘kfDr 

larqyu dks ------------------- ds :i esa ifjHkkf”kr 

djrs gSA 

(A) fons’k uhfr 

(B) vkf/kiR; 

(C) larqyu 

(D) fctyh forj.k 

29. Find the correct match. 
a(A) 1995 Syrian war 
(B) 1991 Gulf war 
(C) 1980 India Pak war 
(D) 2006 Vietnam war 

 

 29. lgh esy pqfu;s 

a(A) 1995 lhfj;k ;q) 

(B) 1991 [kkM+h ;q) 

(C) 1980 Hkkjr&ikd ;q) 

(D) 2006 fo,ruke ;q) 
 

30. “It clearly implies collective 
measure for dealing with threat to 
peace” this refers to  
(A)   International security 
(B) Collective security 
(C) Cooperative security  
(D) None of the above 

 30. Þ;g Li”V :i ls ‘kkafr ds fy, [krjs ls 

fuiVus ds fy, lkewfgd mik; ls rkRi;Z 

j[krk gSß ;g fdlds fy, dgk x;k gS \ 

(A) varjkZ”Vªh; lqj{kk 

(B) lkewfgd lqj{kk 

(C) lgdkjh lqj{kk 

(D) mijksDr esa ls dksbZ ugha 

31. Which system in Morton Kaplan’s 
systems theory relates to the Hobbes 
state of nature in which the interests 
of all are opposed and all are at war 
in with each other. 
(A)   Hierarchical international 

system 
(B) Universal international system 
(C) Balance of power international 

system 
(D) Unit Veto international system 

 31. ekWVZu diyku ds flLVe fl)kar es adkSu 

lh iz.kkyh gkWCl ds izkÑfrd  jkT; dh 

flFkfr tSlh gS ftlesa lHkh ,d nwljs ds 

fgrksa dk fojks/k djrs gS vkSj ,d nwljs ds 

lkFk ;q) tSlh fLFkfr esa gSa\ 

(A) lksikfu; varjkZ”Vªh; O;oLFkk 

(B) O;kid baVjus’kuy O;oLFkk 

(C) ‘kfDr larqyu varjkZ”Vªh; O;oLFkk 

(D) bdkbZ ohVks baVjus’kuy O;oLFkk 
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32. Which article in the U.N. Charter 

makes provision for economic 

sanctions and for the severance of 

diplomatic relations? 

(A)   Article 42 

(B) Article 41 

(C) Article 39 

(D) Article 43 

 32. la;qDr jk”Vª pkVZj esa dkSu lk vuqPNsn 

vkfFkZd izfrca/kksa vkSj jktuf;d laca/kksa ds 

foPNsn ds fy, izko/kku djrk gS \ 

(A) vuqPNsn 42 

(B) vuqPNsn 41 

(C) vuqPNsn 39 

(D) vuqPNsn 43 

33. A weak and underdeveloped nation 

can become a powerful nation with 

(A)   Large land area 

(B) Minerals and resources 

(C) Strong leadership 

(D) Grants and Aids  

 33. ,d detksj vkSj vfodflr jk”Vª ,d 

‘kfDr’kkyh jk”Vª fdlls cu ldrk gS\ 

(A) cM+k Hkwfe {ks= 

(B) [kfut vkSj lalk/ku 

(C) etcwr usrR̀o 

(D) vuqnku vkSj lgk;rk 

34. Which among these is correctly 

matched? 
Authors Books 

(A) 
 

Kenneth  

Waltz 

Politics among 

nations 
(B) 
 

Cynthia  

Enloe 

Bananas, 

Beaches, and 
Bases 

(C) Morgenthau Theory and 
International 
System 

(D) Quincy 
Wright 

Automation 
and 

Technological 
Change  

 

 34. fuEu esa ls lgh esy pqfu,\ 

ys[kd iqLrd 

(A) 
 

Kenneth  

Waltz 

Politics among 

nations 

(B) 
 

Cynthia  

Enloe 

Bananas, 

Beaches, and 

Bases 

(C) Morgenthau Theory and 

International 

System 

(D) Quincy 

Wright 

Automation 

and 

Technological 

Change  
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35. In which game situation the gains 

and losses are shared by both sides 

to some extent ? 

(A)   Zero-sum two persons 

(B) None-zero-sum two persons 

(C) Non-zero-sum n persons 

(D) Zero-sum n persons 

 35. fdl [ksy dh fLFkfr esa nksuksa i{kksa }kjk dqN 

gn rd ykHk vkSj gkfu lk{kk dh tkrh gSa \ 

(A) ‘kwU;&;ksx nks O;fDr 

(B) xSj&’kwU; ;ksx nks O;fDr 

(C) xSj&’kwU;&jkf’k n O;fDr 

(D) ‘kwU;&;ksx n O;fDr 

36. Who was the chief proponent of 
decision-making theory in 
international Politics ? 
(A)   Karl Deutsch 
(B) Richard Snyder 
(C) Charles .A. McClelland 
(D) None of the above 

 36. varjkZ”Vªh; jktuhfr esa fu.kZ;ijd fl)kar 

ds izeq[k izLrkod dkSu Fks\ 

(A) dkyZ nqRp 

(B) fjpMZ LukbMj 

(C) pkYlZ- ,- eSDysySaM 

(D) mijksDr esa ls dksbZ ugha 

37. Which approach advocates morality 

as the means for securing the desired 

objective of making the world an 

ideal world?  

(A)   Realist 

(B) Idealist 

(C) Neo-realist 

(D) Neo-liberal 

 37. fo’o dks ,d vkn’kZ fo’o cukus ds okafNr 

mn~ns’; dks izkIr djus ds lk/ku ds :i esa 

dkSu lk nf̀”Vdks.k uSfrdrk dh odkyr 

djrk gS\ 

(A) ;FkkFkZoknh 

(B) vkn’kZoknh 

(C) uo&;FkkFkZoknh 

(D) uo&mnkjoknh 

38. “A world full of human happiness is 
not beyond human power to 
achieve,” Who said this? 
(A)   Woodrow Wilson 
(B) Bertrand Russel 
(C) Mahatma Gandhi 
(D) None of the above 

 38. Þekuo lq[k ls Hkjh nqfu;k dks izkIr djuk 

ekuo ‘kfDr ls ijs ugha gS]ß ;g fdlus 

dgk\ 

(A) oqMjks foYlu 

(B) cVsZaªM jlsy 

(C) egkRek xk¡/kh 

(D) mijksDr esa ls dksbZ ugha 
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39. Find the correctly matched among 

the following.  

(A)   UNO - Military organization 

(B) WTO -Economic organization 

(C) NATO - Political organization 

(D) UNESCO-Regional  

 39. fuEufyf[kr esa ls dkSu lk lgh esy gS\ 

(A) ;w,uvks & lSU; laxBu 

(B) fo’o O;kikj laxBu & vkfFkZd laxBu 

(C) ukVks & jktuhfrd laxBu 

(D) ;wusLdks & {ks=h; laxBu 

40. “The foreign policy of a country is 

determined by its geography,” who 

said this? 

(A)   Morgenthau 

(B) Kautilya 

(C) Napoleon 

(D) Lenin 

 40. Þfdlh ns’k dh fons’k uhfr mlds Hkwxksy ds 

n~okjk fu/kkZfjr dh tkrh gSß ;g fdlus 

dgk Fkk\ 

(A) ekWxZsUFkkÅ 

(B) dkSfVY; 

(C) usiksfy;u 

(D) ysfuu 

41. Which among these is a true 
statement ? 
1. National power is relative. 
2. National Power is permanent. 
(A)   Only 1 
(B) Only 2 
(C) Both 
(D) None 

 41. buesa ls dkSu lk dFku lR; gS\ 

1. jk”Vªh; ‘kfDr lkis{k gSA 

2. jk”Vªh; ‘kfDr LFkk;h gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) nksuksa 

(D) dksbZ ugha 

42. The main element of Political 
realism is the concept of national 
interest which Morgenthau defines 
in terms .............   
(A)   Self-interest 
(B) Peace 
(C) Power 
(D) Security 

 42. jktuhfrd ;FkkFkZokn dk eq[; rRo jk”Vªh; 

fgr dh vo/kkj.kk gS ftls ekWxsZUFkkÅ us -------

--ds :i esa ifjHkkf”kr fd;k gSA 

(A) LokFkZ 

(B) ‘kkafr 

(C) ‘kfDr 

(D) lqj{kk 
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43. Martin Shubik, Oskar Morgenstern, 

and Karl Deutsch were among the 

first to recognize the importance of 

(A)   Decision-making theory 

(B) Game theory 

(C) Communication theory 

(D) Liberal theory 

 43. ekfVZu ‘kqfcd] vksLdj eksxZuLVuZ vkSj dkyZ 

M~;w’k fdlds egRo dks igpkuus okys igys 

O;fDr Fks\ 

(A) fu.kZ;fuekZ.k fl)kar 

(B) [ksy fl)kar 

(C) lapkj fl)kar 

(D) mnkjoknh fl)kar 

44. The history of international relations 
based on sovereign states is often 
traced back to   
(A)   Peace of Westphalia of 1648 
(B) French Revolution 1789  
(C) The Glorious Revolution 1688 
(D) None of the above 

 44. laizHkq jkT;ksa ij vk/kkfjr varjkZ”Vªh; laca/kksa 

dk bfrgkl dc ls vkjEHk gqvk\ 

(A) osLVQsfy;k dh ‘kkafr 1648 

(B) Ýkalhlh Økafr 1789 

(C) xkSjo’kkyh Økafr 1688 

(D) mijksDr esa ls dksbZ ugha 

45. Which among the following is not 
an objective of International 
Politics? 
(A)   Establish balance of power 
(B) Establish imperialism 
(C) Establish peace 
(D) None of the above 

 45. fuEufyf[kr esa ls dkSu varjkZ”Vªh; jktuhfr 

dk mn~ns’; ugha gSa\ 

(A) ‘kfDr larqyu LFkkfir djuk 

(B) lkezkT;okn dh LFkkiuk djuk 

(C) ‘kkafr LFkkfir djuk 

(D) mijksDr esa ls dksbZ ugha  

46. Who defined International Politics 

as “Interactions of state policies 

within the changing patterns of 

power relationships”? 

(A)   Padleford and Lincoln 

(B) Hartman 

(C) Morgenthau 

(D) Palmer & Perkins 

 46. varjkZ”Vªh; jktuhfr dks Þ’kfDr laca/kksa ds 

ifjofrZr gksrs gq, <akpksa ds Hkhrj ,d nwljs 

ls Vdjkrh gqbZ jktdh; uhfr;ksa ds :i esaß 

fdlus ifjHkkf”kr fd;k \ 

(A) iSMyQksMZ vkSj fyadu 

(B) gkVZeSu 

(C) ekWxsZUFkkÅ 

(D) ikej vkSj ifdZUl 
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47. Who among these is considered as a 
chief proponent of realism in 
international politics?  
(A)   Woodrow Wilson 
(B) Morgenthau 
(C) Davis Easton 
(D) None of the above 

 47. buesa ls fdls vUrjkZ”Vªh; jktuhfr esa 

;FkkFkZokn dk izeq[k izLrkod ekuk tkrk 

gS\ 

(A) oqMjks foYlu 

(B) ekWxsZUFkkÅ 

(C) Msfol bZLVu 

(D) mijksDr esa ls dksbZ ugha 

48. Which are the two main competitor 
approaches to study international 
politics ? 
(A)   Communication and decision-

making theory 
(B) Realism and Idealism 
(C) Systems and world theory 
(D) None of the above 

 48. vUrjkZ”Vªh; jktuhfr dk v/;;u djus ds 

fy, nks eq[; izfrLi/khZ n`f”Vdks.k dkSu ls 

gSa\ 

(A) lapkj vkSj fu.kZ; ysus dk fl)kar 

(B) ;FkkFkZokn vkSj vkn’kZokn 

(C) flLVe vkSj fo’o fl)kar 

(D) mijksDr esa ls dksbZ ugha 

49. Which among these is not an 
essential condition for politics ? 
(A)   Existence of groups 
(B) Disagreements among groups 
(C) Encourage conflict 
(D) Efforts to control others 

 49. bueas ls dkSu jktuhfr ds fy, vfuok;Z ‘krZ 

ugha gSa\ 

(A) lewgksa dk vfLrRo 

(B) lewgksa ds chp vlgefr 

(C) la?k”kZ dks izksRlkgu 

(D) nwljksa dks fu;af=r djus ds iz;kl 

50. Which among the following 
statements is true?  
1. Nation states are sovereign 

actors in international politics. 
2. Power is both an end and 

means in international politics. 
(A) Only 1 
(B) Only 2 
(C) Both are false 
(D) Both are true 

 50. fuEufyf[kr esa ls dkSu lk dFku lR; gSa\ 

1. jk”Vª jkT; vUrjkZ”Vªh; jktuhfr esa 

laizHkq vfHkdrkZ gSaA  

2. vUrjkZ”Vªh; jktuhfr esa ‘kfDr ,d 

lk/; vkSj lk/ku nksuksa gSaA 

(A) dsoy 1 

(B) dsoy 2 

(C) nksuksa vlR; gSa 

(D) nksuksa lR; gSa 
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51. Who wrote the book, “The End of 

history and the last man” ? 

(A)   Francis Fukuyama  

(B) Henry Kissinger  

(C) Samuel Huntingdon 

(D) None of the above  

 51. **n ,aM vkWQ fgLVªh ,aM n ykLV eSu** 

iqLrd fdlus fy[kh gS \  

(A) Ýkafll Qqdq;kek 

(B) gsujh fdflatj 

(C) lSeqvy gafVaxMu 

(D) mijksDr esa ls dksbZ ugha 

52. Which country supported Pakistan 

on Kashmir issue in the U.N. 

Security council in years 1957, 

1961, and 1965 ? 

(A)   U.S.A. 

(B) Britain  

(C) France  

(D) None of the above  

 52. o”kZ1957] 1961 vkSj 1965 esa la;qDr jk”Vª 

lqj{kk ifj”kn esa fdl ns’k us d’ehj eqn~ns 

ij ikfdLrku dk leFkZu fd;k \ 

(A) ;wŒ ,lŒ ,Œ 

(B) fczVsu 

(C) Ýkal 

(D) mijksDr esa ls dksbZ ugha 

53. Which terrorist organization was 

responsible for November 2008 

Mumbai Terrorist Attacks ? 

(A)   Hizbul Mujahideen  

(B) Lashkar-e-Taiba 

(C) Al-Nusra Front  

(D) hayat Tahrir al-Sham  

 53. uoacj 2008 ds eqacbZ vkradoknh ds fy, 

dkSu lk vkradoknh laxBu ftEesnkj Fkk \  

(A) fgtcqy eqtkfgnhu  

(B) y’dj&,&rS;kck  

(C) vy&uqljk ÝaV 

(D) g;kr rgjhj vy&’kke 

54. The ‘fall of the Berlin Wall’ paved 

the way for : 

(A)   German reunification  

(B) Unification of Italy  

(C) Unification of Russia  

(D) Unification of Prussia  

 54. *cfyZu dh nhokj ds fxjus* us&&&&&&dk 

ekxZ iz’kLr fd;kA 

(A) teZu iqujsdhdj.k 

(B) bVyh dk ,dhdj.k 

(C) :l dk ,dhdj.k 

(D) izf’k;k dk ,dhdj.k 
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55. The Feminine Mystique, published 

in 1963 which sparked the second 

wave of feminism, was written by ? 

(A)   Betty Friedan  

(B) Gloria Steinem  

(C) Simone de Beauvoir  

(D) Virginia Wolfe  

 55. 1963 esa izdkf’kr n Qsfefuu fefLVd] 

ftlus ukjhokn dh nwljh ygj dks tUe 

fn;k] fdlds n~okjk fy[kh xbZ Fkh \  

(A) csV~Vh ÝkbMu 

(B) Xyksfj;k LVhuse 

(C) fleksu Mh C;woksbj 

(D) othZfu;k oksYQ 

56. It was the aim of___ to bring 

eventual economic union of its 

member nations, ultimately leading 

to political union. 

(A)   NATO  

(B) Warsaw Pact  

(C) EEC  

(D) OPEC  

 56. bues ls fdl dk mn~ns’; vius lnL; 

jk”Vªksa ds vkfFkZd la?k dks cuk dj varr% 

jktuhfrd la?k dh vksj ys tkuk Fkk \  

(A) ukVks 

(B) okjlkW iSDV 

(C) bZbZlh 

(D) vksisd  

57. Find the correct match of a country 
with its terrorist outfit among the 
following.   
(A)   Afghanistan: Jamaat-E-Islamic  
(B) Pakistan: Hamas  
(C) Israel: Harkat-Ul-Ansar  
(D) None of the above  

 57. fuEufyf[kr esa ls vkradoknh laxBu ds 

lkFk ns’k dk lgh feyku dhft,A 

(A) vQxkfuLrku% tekr&,&bLykeh  

(B) ikfdLrku% gekl 

(C) bt+jkby% gjdr&my&valkj 

(D) mijksDr esa ls dksbZ ugha 

58. Identify the South Asian country 
which has been the largest recipient 
of China’s FDI assistance in 2017 : 
(A)   Nepal  
(B) Bhutan  
(C) Pakistan  
(D) Sri Lanka  

 58. 2017 esa phu dh ,QMhvkbZ lgk;rk dk lcls 

cM+k izkIrdrkZ dkSu nf{k.k ,f’k;kbZ gS \  

(A) usiky 

(B) HkwVku 

(C) ikfdLrku 

(D) Jhyadk 
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59. Which of the three pillars of West 

Asia were accommodated in present 

tri-directional India’s foreign policy 

towards West Asia : 

(A)   Iran, Israel, Saudi Arabia  

(B) Israel, Iraq, Kuwait  

(C) Iran, Yemen, Egypt  

(D) Saudi Arabia, Turkey, UAE  

 59. if’pe ,f’k;k ds izfr orZeku f=-fn’kkRed 

Hkkjr dh fons’k uhfr esa if’pe ,f’k;k ds 

rhu LraHkksa esa ls dkSu lk lekfo”V fd;k 

x;k Fkk \  

(A) bZjku] bt+jkby] lÅnh vjc 

(B) bt+jkby] bjkd] dqoSr 

(C) bZjku] ;eu] felz 

(D) lÅnh vjc] rqdhZ] ;w,bZ 

60. India is not a member of which one 

of the following : 

(A)   SCO 

(B) BIMSTEC  

(C) BRICS  

(D) OAS  

 60. Hkkjr fuEufyf[kr esa ls fdldk lnL; ugha 

gS % 

(A) ,llhvks 

(B) fcElVsd 

(C) fczDl  

(D) vksŒ ,Œ,lŒ 

61. Which one is the correct option for 
CTBT? 
(A)   Compact Test Ban treaty. 
(B) Comprehensive Testing Ban 

treaty. 
(C) Comprehensive Test Ban 

treaty. 
(D) Compact Testing Ban treaty. 

 61. lhVhchVh ds fy, dkSu lk fodYi lgh gS\ 

(A) dkWEiSDV VsLV cSu laf/kA 

(B) dkWEizsgsaflo VsfLVax cSu laf/k 

(C) dkWEiszgsaflo VsLV cSu laf/kA 

(D) dkWEiSDV VsfLVax cSu laf/k 

62. Which of the following is not the 
disputed site between India and 
China? 
(A)   Doklam 
(B) Galwan Valley 
(C) Depsang Plains 
(D) Lipulekh Pass 

 62. fuEufyf[kr esa ls dkSu Hkkjr vkSj phu ds 

chp fookfnr LFky ugha gS\ 

(A) Mksdyke 

(B) xyoku ?kkVh 

(C) nsilkax eSnku 

(D) fyiqys[k ikl 
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63. Who were the three leaders who 

floated the idea of NAM? 

(A)   Nehru, Tito, Nasser 

(B) Nehru, Sukarno, Shah 

(C) Nehru, Nkrumah, Shah 

(D) Nehru, Shah, Tito 

 63. NAMdk fopkj j[kus okys rhu vxz.kh 

usrk dkSu Fks\ 

(A) usg:] VhVks] uklsj 

(B) usg:] lqd.kksZ] ‘kkg 

(C) usg:] udjekg] ‘kkg 

(D) usg:] ‘kkg] VhVks 

64. Which among the follwoing is 

corrrectly matched? 

(A)   NATO - Economic treaty 

(B) SALT I - Bilateral treaty 

(C) Asean - Political Organization 

(D) McDonalds -National 

Organization 

 64. fuEufyf[kr esa ls dkSu lk lgh lqesfyr gS\ 

(A) ukVks & vkfFkZd laf/k 

(B) lkYVI & f}i{kh; laf/k 

(C) vkfl;ku& jktuhfrd laf/k 

(D) eSdMkWuYM~l & jk”Vªh; laf/k 

65. Which among these is a true 

statement? 

1. Military power is often referred 

to as “hard powe.” 

2. Diplomacy is often called “soft 

power.” 

(A)   Only 1 

(B) Only 2 

(C) Both 1 & 2 

(D) None of them 

 65. buesa ls dkSu lk ,d lR; dFku gS\ 

1- lSU; ‘kfDr dks vDlj ÞgkMZ ikojß 

ds :i esa tkuk tkrk gSA 

2. dwVuhfr dks vDlj ÞlkW¶V ikojß 

dgk tkrk gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) 1 vkSj 2nksuksa 

(D) buesa ls dksbZ ugha 
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66. Who stated that liberalism has 

“outlived its purpose,” and “has 

come into conflict with the interests 

of the overwhelming majority of the 

population?” 

(A)   Obama 

(B) Putin 

(C) Markel 

(D) Castro 

 66. fdlus dgk fd Þmnkjoknß viuk mn~ns’; 

[kks pqdk gS vkSj Þvkcknh ds cM+s Hkkx ds 

fgrksa ds lkFk la?k”kZ esa vk x;k gS\ß 

(A) vksckek 

(B) iqfru 

(C) ekdsZy 

(D) dkL=ks 

67. Realism considers ..........to be the 

supreme virtue in politics. 

(A)   Morality 

(B) Peace 

(C) Prudence 

(D) Power 

 67. ;FkkFkZokn jktuhfr esa loksZPp xq.k ------------dks 

ekurk gSA 

(A) uSfrdrk 

(B) ‘kkafr 

(C) foosd 

(D) ‘kfDr 

68. Which country has passed a bill to 

combat the rise in hate crimes 

against Asian Americans and Pacific 

nationals? 

(A)   China 

(B) Canada 

(C) U.S.A. 

(D) India 

 68. ,f’k;kbZ vesfjfd;ksa vkSj iz’kkar ukxfjdksa ds 

f[kykQ ?k.̀kk vijk/kksa esa òn~f/k dk eqdkcyk 

djus ds fy, fdl ns’k us ,d fo/ks;d 

ikfjr fd;k gS\ 

(A) phu 

(B) dukMk 

(C) ;w-,l-,- 

(D) Hkkjr 
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69. Find the correct match : 

(A)   Khrushchev - China 

(B) Fidel Castro - Cuba 

(C) Yasser Arafat - Israel 

(D) None of the above 

 69. lgh feyku [kkstsa % 

(A) [kzq’pso& phu 

(B) fQnsy dkL=ks &D;wck 

(C) ;klhj vjkQkr& bt+jkby 

(D) mijksDr esa ls dksbZ ugha 

70. Which among the following 

statements is true? 

1. India has entered a non-

parmanent member of United 

Nations Security Council 

(UNSC) for the first time in 

2021. 

2. The ten non-permenaent seats 

of UNSC are distributed on a 

regioanl basis. 

(A)   1 Only  

(B) 2 Only 

(C) Both 1 and 2 

(D) Neither 1 nor 2 

 70. fuEufyf[kr esa ls dkSu lk dFku lR; gS\ 

1. Hkkjr us jk”Vª lqj{kk ifj”kn 

(UNSC)  esa igyh ckj 2021 ds 

,d vLFkk;h lnL; ds :i esa izos’k 

fd;k gS] 

2. UNSCdh nl vLFkkbZ lhVksa dk 

{ks=h; vk/kkj ij caVokjk gksrk gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) 1 vkSj 2 nksuksa 

(D) u rks 1 vkSj u gh 2 

71. Weapons of mass destruction 
include: 
(A)   Nuclear, chemical and 

biological weapons 
(B) Nuclear, conventional, and 

biological weapons   
(C) Chemical, ballistic, and 

biological weapons 
(D) None of the above 

 71. lkewfgd fouk’k ds gfFk;kjksa esa D;k ‘kkfey 

gSa% 

(A) ijek.kq] jklk;fud vkSj tSfod 

gfFk;kj 

(B) ijek.kq] ikjaifjd vkSj tSfod gfFk;kj 

(C) jklk;fud] cSfyfLVd vkSj tSfod 

gfFk;kj 

(D) mijksDr esa ls dksbZ ugha 
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72. Complete cessation of nuclear 

testing is the sole aim of: 

(A)   FMCT 

(B) NPT 

(C) CTBT 

(D) None of the above 

 72. ijek.kq ijh{k.k dh iw.kZ lekfIr dk ,dek= 

mn~ns’; buesa ls fdldk gS\ 

(A) ,Q,elhVh 

(B) ,uihVh 

(C) lhVhchVh 

(D) mijksDr essa ls dksbZ ugha 

73. What do OAU, OAS, ASEAN have 

in common? 

(A)   They are military alliances 

(B) They are agencies of the 

United Nations 

(C) They are regional organizations 

(D) None of the above 

 73. OAU, OAS, ASEANesa D;k lekurk 

gS\ 

(A) os lSU; xBca/ku gSa 

(B) osa la;qDr jk”Vª dh ,tsafl;ka gSa 

(C) os {ks=h; laXkBu gS 

(D) mijksDr esa ls dksbZ ugha 

74. From which discipline did 

constructivists draw from?  

(A)   Sociological theory 

(B) Psychological theory 

(C) Classical Political theory  

(D) Microeconomic theory 

 74. jpukokn fdl vuq’kklu ls lecaf/kr gS\ 

(A) lekt’kkL=h; fl)kar 

(B) euksoSKkfudfl)kar 

(C) izkphu jktuhfrd fl)kar 

(D) ekbØks vkfFkZd fl)kar 

75. The country which left its stance of 

political neutrality and joined UN as 

its 190thmember : 

(A)   Nepal 

(B) East Timur 

(C) Austria 

(D) Switzerland 

 75. og ns’k ftlus jktuhfrd rVLFkrk ds 

vius :[k dks NksM+ fn;k vkSj 190osa lnL; 

ds :i esa la;qDr jk”Vª esa ‘kkfey gks x;k% 

(A) usiky 

(B) iwohZ rSewj 

(C) vkWfLVª;k 

(D) fLoV~Tk+jySaM 
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76. The first phase of Cold war was 

started with US military intervention 

in ....... 

(A)   Berlin Blockade 

(B) Suez Canal 

(C) Pearl Harbour 

(D) Cuba Crisis 

 76. ‘khr ;q) ds igys pj.k dh ‘kq:vkr 

vesfjdh lSU; gLr{ksi ds lkFk -------------esa gqbZ 

Fkh- 

(A) cfyZu ukdkcanh 

(B) Lost ugj  

(C) iyZ gkcZj 

(D) D;wck ladV 

77. Who among the following is/are not 

an advocate of decision-making 

approach? 

(A)   Morgenthau 

(B) Morton Kaplan 

(C) Karl Deutsch 

(D) All the above 

 77. fuEufyf[kr esa ls dkSu fu.kZ; ysus ds 

nf̀”Vdks.k ds leFkZd ugha gSa\ 

(A) ekWxsZUFkkÅ 

(B) ekWVZu dkiyku 

(C) dkyZ n~;qRp 

(D) mijksDr lHkh 

78. According to Kaplan, the most 

likely transformation of the balance 

of power system is in to a .......... 

(A)   Bipolar System 

(B) Unipolar System 

(C) Multipolar System 

(D) None of the above 

 78. diyku ds vuqlkj] ‘kfDr larqyu O;oLFkk 

dk lcls laHkkfor ifjorZu ---------------esa gSA 

(A) f}/kzqoh; O;oLFkk 

(B) ,d/kqzoh; O;oLFkk 

(C) cgq/kqzoh; O;oLFkk 

(D) mijksDr esa ls dksbZ ugha 

79. Which of the following is not an 

Islamic Organization?  

(A)   Al-Qaeda 

(B) JKLF 

(C) Hamas 

(D) LTTE 

 79. fuEufyf[kr es ls dkSu ,d bLykeh laxBu 

ugha gSa\ 

(A) vy&dk;nk 

(B) tsds,y,Q 

(C) gekl 

(D) fyV~Vs 
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80. India, recently test-fired the air 

version of the BrahMos, a................ 

(A)   Supersonic cruise missile 

(B) Anti-Tank Missile 

(C) Intercontinental Ballistic 

Missile  

(D) Guided Rocket System 

 80. Hkkjr us gky gh esa czºeksl dsok;q laLdj.k 

dk ijh{k.k fd;k] tks ,d ------------gS- 

(A) lqijlksfud Øwt felkby 

(B) ,aVh VSad felkby 

(C) baVjdkafVusaVy cSfyfLVd felkby 

(D) xkbMsM jkWdsV flLVe 

81. Which developing country has 

imposed a ban on Import of Drones? 

(A)   India 

(B) Indonesia 

(C) Argentina 

(D) Brazil 

 81. fdl fodkl’khy ns’k us Mªksu ds vk;kr ij 

izfrca/k yxk;k gS\ 

(A) Hkkjr  

(B) baMksusf’k;k 

(C) vtsZaVhuk 

(D) czkthy 

82. With which countries, United States 

has announced a new trilateral 

security partnership for the Indo-

pacific?  

(A)   India and Australia 

(B) India and United Kingdom 

(C) Australia and Japan  

(D) Australia and United Kingdom 

 82. la;qDr jkT; vesfjdk us fdu ns’kksa ds lkFk 

baMks&iSflfQd ds fy, ,d ubZ f=i{kh; 

lqj{kk lk>snkjh dh ?kks”k.kk dh gS\ 

(A) Hkkjr vkSj vkWLVsªfy;k 

(B) Hkkjr vkSj ;wukbVsM fdaxMe 

(C) vkWLVsªfy;k vkSj tkiku 

(D) vkWLVsªfy;k vkSj ;wukbVsM fdaxMe 

83. Which among these is matched 

correctly?   

(A)   INF Treaty - 1987  

(B) Unification of Germany - 1989  

(C) Afghanistan intervention-1978 

(D) None of the above 

 83. buesa ls dkSu lgh lqesfyr gS\ 

(A) vkbZ,u,Q laf/k & 1987 

(B) teZuh dk ,dhdj.k & 1989 

(C) vQxkfuLrku gLr{ksi & 1978 

(D) mijksDr esa ls dksbZ ugha 
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84. START I and START II Treaties 

were signed between which nations? 

(A)   USA-USSR 

(B) USA-China 

(C) India-Pakistan 

(D) USA-India 

 84. START IvkSj START II laf/k;ksa ij 

fdu ns’kksa ds chp gLrk{kj fd, x, Fks\ 

(A) ;w,l,&;w,l,lvkj 

(B) ;w,l,&phu 

(C) Hkkjr&ikfdLrku 

(D) ;w,l,&Hkkjr 

85. Which among these is the correct 

match of books and authors? 

(A)   Feliks Gross- The Inequality  

(B) David Vital- Foreign Policy  

(C) D.F. Fleming- The Cold War  

(D) None of the above 

 85. buesa ls dkSu&lk iqLrdksa vkSj ys[kdksa dk 

lgh esy gS\ 

(A) QsfyDl xzkWl & n busDokfyVh vkWQ 

  LVsV~l 

(B) MsfoM okbVy & QkWjsu ikfylh  

(C) Mh-,Q- ¶yksfeax & n dksYM okj ,aM 

             bV~l vksfjftal 

(D) mijksDr esa ls dksbZ ugha 

86. Which of the following is a major 

threat to security in the World? 

(A)   Global Terrorism 

(B) Ethnic Conflicts 

(C) Religious Conflicts 

(D) Ideological Conflicts 

 86. fuEufyf[kr esa ls dkSu fo’o esa lqj{kk ds 

fy, ,d cM+k [krjk gS\ 

(A) oSf’od vkradokn 

(B) tkrh; la?k”kZ 

(C) /kkfeZdla?k”kZ 

(D) oSpkfjd la?k”kZ 

87. Balance of power is based on: 

(A)   Realist Paradigm 

(B) Liberal Paradigm 

(C) Marxist Paradigm  

(D) Post Modernism  

 87. ‘kfDr larqyu ij fdl ij vk/kkfjr gS\ 

(A) ;FkkFkZoknh izfreku 

(B) mnkjoknh izfreku 

(C) ekDlZoknh izfreku 

(D) mÙkj vk/kqfudrkokn 
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88. Which of the following is not a 

model of Morton Kaplan’s systems 

theory? 

(A)   Unit veto system 

(B) Balance of Power system 

(C) Unipolar world system 

(D) Loose Bipolar system 

 88. fuEufyf[kr esa ls dkSu ekWVZu diyku ds 

O;oLFkk fl)kar dk ekWMy ugha gSA 

(A) bdkbZ ohVks O;oLFkk 

(B) l’kfDr larqyu O;oLFkk 

(C) ,d/kqzoh; fo’o O;oLFkk 

(D) f’kfFky f}/kqzoh; O;oLFkk 

89. Neorealism is an extension of 

realism which was first formulized 

by 

(A)   Kenneth Waltz 

(B) John Muir 

(C) Morgenthau 

(D) Henry Kissinger 

 89. uo;FkkFkZokn ;FkkFkZokn dk ,d foLrkj gS 

ftls lcls igys fdlds }kjk vkSipkfjd 

:i fn;k x;k Fkk\ 

(A) dsusFk okYV~t 

(B) tkWu eqbjks 

(C) ekWxZsUFkkÅ 

(D) gsujh fdflatj 

90. If a state conquest the minds of men 

of other nations and imposes its 

ideology it is  

(A)   Economic Imperialism 

(B) Cultural Imperialism 

(C) Neo-Colonialism 

(D) Military Imperialism  

 90. ;fn dksbZ jkT; nwljs jk”Vªksa ds yksxksa ds eu 

dks izHkkfor dj ysrk gS vkSj viuh 

fopkj/kkjk dks Fkksirk gS rks og ----------------

dgykrk gS- 

(A) vkfFkZd lkezkT;okn 

(B) lkaLÑfrd lkezkT;okn 

(C) uo&mifuos’kokn 

(D) lSU; lkezkT;okn 
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91. Which among the following 

statements about the Cold war is 

wrong? 

(A)  It was an ideological war 

between the superpowers.  

(B) It triggered off an arms race. 

(C) The US and USSR were 

engaged in direct wars. 

(D) It was a competition between 

the US and Soviet Union and 

their respective allies.  

 91. ‘khr ;q) ds ckjs esa fuEufyf[kr esa ls dkSu 

lk dFku xyr gSa \ 

(A) ;g egk’kfDr;ksa ds chp ,d oSpkkfjd 

;q) FkkA 

(B) blus gfFk;kjksa dh gksM+ ‘kq: dj nhA 

(C) ;w,l vkSj ;w,l,lvkj izR;{k ;q)ksa esa 

yxs gq, FksA 

(D) ;g vesfjdk vkSj lksfo;r la?k vkSj 

muds lacaf/kr lg;ksfx;ksa ds chp ,d 

izfr;ksfxrk FkhA 

92. Which among the following 

statement in true? 

1. A foreign policy protects unity 

and integrity of a country. 

2. A foreign policy defends 

interests of its citizens   

(A)   Only 1 

(B) Only 2 

(C) Both 1 and 2 

(D) None of these 

 92. fuEufyf[kr esa ls dkSu lk dFku lR; gSa\ 

1. fons’k uhfr fdlh ns’k dh ,drk vkSj 

v[kaMrk dh j{kk djrh gSA 

2. ,d fons’k uhfr vius ukxfjdksa ds 

fgrksa dh j{kk djrh gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) 1 vkSj 2 nksuksa 

(D) buesa ls dksbZ ugha 

93. Which was the first major crisis 

which led to the emergence of 

international politics as a discipline? 

(A)   French Revolution 

(B) Bolshevik Revolution 

(C) First world war 

(D) None of the above 

 93. igyk cM+k ladV dkSu lk Fkk ftlds dkj.k 

varjkZ”Vªh; jktuhfr ,d fo”k; ds :i esa 

mHkjh\ 

(A) Ýkalhlh Øakfr 

(B) cksY’ksfod Øakfr 

(C) izFke fo’o ;q) 

(D) mijksDr esa ls dksbZ ugha 
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94. Which international political theory 
uses words such as: war/ conflict, 
military, sovereign nation states, 
human nature, anarchy, perpetual 
fear, self-help? 
(A)   Idealism 
(B) Liberalism 
(C) Realism 
(D) None of the above 

 94. dkSu lk varjkZ”Vªh; jktuhfrd fl)kar 

;q)@la?k”kZ] lSU;] laizHkq jk”Vª jkT;] ekuo 

LoHkko] vjktdrk] ‘kk’or Hk;] Lo;a 

lgk;rk tSls ‘kCnksa dk mi;ksx djrk gS\ 

(A) vkn’kZokn 

(B) mnkjokn 

(C) ;FkkFkZokn 

(D) mijksDr esa ls dksbZ ugha 

95. Find the correct match of the 
following : 
(a) NATO (1) Regional 

Organization 

(b) UNO (2) Economic 
Organization 

(c) WTO (3) Political 
Organization 

(d) ASEAN (4) Military 
Organization 

 

 (a) (b) (c) (d) 
(A) 4 3 2 1 

(B) 2 1 3 4 

(C) 3 2 4 1 

(D) 1 2 3 4 
 

 95. fuEu esa ls lgh esy pqfu, % 

(a) ukVks ¼1½ {ks=h; laXkBu 

(b) ;w ,u vks ¼2½ vkfFkZd laXkBu 

(c) MCyw Vh vks ¼3½ jktuhfrd 

laXkBu 

(d) vkfl;ku ¼4½ lSfud laXkBu 

 

 (a) (b) (c) (d) 
(A) 4 3 2 1 

(B) 2 1 3 4 

(C) 3 2 4 1 

(D) 1 2 3 4 
 

96. What do the terms ideological 
hatred, psychological warfare and 
political distrust indicate about? 
(A)   World War I 
(B) Word War II 
(C) Cold War 
(D) None of the above 

 96. oSPkkfjd ?k.̀kk] euksoSKkfud ;q) vkSj 

jktuhfrd vfo’okl ‘kCn fdl ckjs esa 

ladsr djrs gSa\ 

(A) izFke fo’o ;q) 

(B) f}rh; fo’o ;q) 

(C) ‘khr ;q) 

(D) mijksDr esa ls dksbZ ugha 
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97. Which among the following 
statements is not true? 
1. International relation is 

exhaustive while international 
politics in narrow. 

2. International relation is 
analytical whereas 
international politics is 
descriptive   

(A)   Only 1 
(B) Only 2 
(C) Both 
(D) None 

 97. fuEufyf[kr esa ls dkSu lk dFku lR; ugha 
gSA\ 
1. varjkZ”Vªh; laca/k O;kid gS tcfd 

varjkZ”Vªh; jktuhfr ladh.kZ gSA 
2. varjkZ”Vªh; laca/k fo’ys”k.kkRed gksrs 

gSa tcfd varjkZ”Vªh; jktuhfr 
o.kZukRed gksrh gSA 

(A) dsoy 1 
(B) dsoy 2 
(C) nksuksa 
(D) dksbZ ugha 

98. Who defined “Imperialism is the 
expansion of a state’s power beyond 
its borders”? 
(A)   Schuman 
(B) Palmar & Perkins 
(C) Morgenthau 
(D) None of the above 

 98. fdlus ifjHkkf”kr fd;k ÞlkezkT;okn viuh 
lhekvksa ls ijs ,d jkT; dh ‘kfDr dk 
foLrkj gSß\ 
(A) ‘kqeku 
(B) ikej vkSj ikfdZUl 
(C) ekWxsZUFkkÅ 
(D) mijksDr esa ls dksbZ ugha 

99. Which country signed a treaty with 
Taiwan and established military 
bases there?  
(A)   Japan 
(B) China 
(C) America 
(D) None of the above 

 99. fdl ns’k esa rkboku ds lkFk ,d laf/k ij 
gLrk{kj fd, vkSj ogka lSU; fBdkus LFkkfir 
fd,\ 
(A) tkiku 
(B) phu 
(C) vesfjdk 
(D) mijksDr esa ls dksbZ ugha 

100. Who among the following described 
present times as “the age of 
Overkill”? 
(A)   Max Lerner 
(B) Patrick Morgan 
(C) Lawrence Freedman 
(D) None of the above 

 100. fuEufyf[kr esa ls fdlus orZeku le; dks 
Þvfrekjdrk dk ;qxß ds :i esa of.kZr 
fd;k gS \ 
(A) eSDl yUkZj 
(B) iSfVªd ekWxZu 
(C) ykWjasl ÝhMeSu 
(D) mijksDr esa ls dksbZ ugha 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which All 100 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


